Validate	Print Help Percentage Bol	2							
Tender Inviting Autho	rity: Project Engineer (civil),CCL, Kathara								
	Name of Work: Repairing o	of sheeting a	at Sub Station and Excav	ation shed under Ja	rangdih Colliery				
	Category of Services (To Be Selected by Department)	Category of Bidder(To Be Selected by Bidder)	To Be Entered by Department						
ITC Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)				
Name of the Bidder/ Bidding Firm / Company :			Select	18.00	0.00	0.0			
PRICE SCHEDULE (This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)									
NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #			
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words			
1	2	3	4	5	6	7			
1	Item Description/ Heading								
	Providing corrugated G.S. sheet roofing including vertical / curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/ vertical or curved surfaces), excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required. 0.63 mm thick with zinc coating not less than 275 gm/ m ²	257.80	sqm	821.25	211718.25	INR Two Lakh Eleven Thousand Seven Hundred & Eighteen and Paise Twenty Five Only			
3	Dismantling roofing including ridges, hips, valleys and gutters etc., and stacking the material within 50 metres lead of:G.S. Sheet	257.80	sqm	97.70	25187.06	INR Twenty Five Thousand One Hundred & Eighty Seven and Paise Six Only			
4	Extra for providing and fixing wind ties of 40x 6 mm flat iron section.	720.00	m	138.75	99900.00	INR Ninety Nine Thousand Nine Hundred Only			
5	Providing and fixing on wall face unplasticised - PVC moulded fittings/ accessories for unplasticised Rigid PVC rain water pipes conforming to IS : 13592 Type A, including jointing with seal ring conforming to IS : 5382, leaving 10 mm gap for thermal expansion. Single pushfit Coupler 75 mm	105.00	m	69.25	7271.25	INR Seven Thousand Two Hundred & Seventy One an Paise Twenty Five Only			

Quoted Rate in Words		INR Zero Only					
Quoted Rate in Figures			Select		0.00	INR Zero Only	
Total in Figures			•		978567.56	INR Nine Lakh Seventy Eight Thousand Five Hundred & Sixty Seven and Paise Fifty Six Only	
7	Total impact of GST for the purpose of CTC	1.000	Nos	0.00	0.00	INR Zero Only	
	primer for bitumen membrane @ 0.40 litre/sqm by the same membrane primer for bitumen membrane @ 0.40 litre/sqm by the same membrane manufactured of density at 25° C, 0.87 - 0.89 kg/litre and viscocity 70 - 160 cps. Over the primer coat the layer of membrane shall be laid using butane torch and sealing all joints etc., and preparing the surface complete. The vital physical and chemical parameters of the membrane shall be as under : Joint strength in longitudinal and transverse direction at 23° C as 350/300 N/5 cm. Tear strength in longitudinal and transverse direction as $60/80$ N. Softening point of membrane not less than 150° C. Cold flexibility shall be upto -2° C when tested in accordance with ASTM, D - 5147. The laying of membrane shall be got done through the authorised applicator of the manufacturer of membrane :3 mm thick						
6	Providing and laying APP (Atactic Polypropylene Polymer) modified prefabricated five layer, 3 mm thick water proofing membrane, black	1430.00	sqm	443.70	634491.00	INR Six Lakh Thirty Four Thousand Four Hundred & Ninety One Only	